(2-Digit by 2-Digit )

Name:

CMuIﬁpIicaﬁon)

a. 87 %X 29 = d. The Oak Grove school district
just bought new school buses.
They bought 16 large buses that
can carry 72 students each. They
also bought 5 small buses that
can carry 32 students each. How
many total students can ride on
the new buses?

Show your work.

b. A schoolis pufting new seats in
1 1 19 rnasc

Preview

Please log in fo download
the printable version of this worksheet.

Input Output

answer: 24
36 576

48

33 60

x 14 Rule: Multiply by 16.
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ANSWER KEY (2-Digit by 2-Digit )

(Multiplicaﬁon)

a. 87 x 29 = 2,523 d. The Oak Grove school district
just bought new school buses.
They bough’r 16 large buses that
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